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This question paper consists of TWO (2) questions. Answer ALL questions in the answer
booklet provided. [100 MARKS]

QUESTION 1 (50 Marks)

Table 1 below shows the number of labour hours required to produce a tonne of honey and a unit
of laptop respectively for Russia and Malaysia.

Table 1: Labour hour requirement per unit of output.

Honey Laptop
Russia 3 hours / fonne 5 hours / unit
Malaysia 4 hours / tonne 4 hours / unit

a) Which country has absolute advantage in producing honey and laptop respectively? Justify
your answer. (5 marks)

b) Based on Table 1, determine the pattern of trade i.e., which country exports and imports what
good. (5 marks)

¢} If Russia and Malaysia have 33,000 and 10,000 labour hours respectively, determine how
many tonnes of honey and units of laptop will be produced when Russia and Malaysia
exercise free trade. (8 marks)

d) Given the information presented in Table 1 and answer to part (c) above, the world relative
supply and demand curves are given as below, where Y-axis is the relative price of honey in
terms of laptop and X-axis is the relative quantity of honey to quantity of laptop:

Figure 1: World Relative Supply and Demand Curves
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i. Determine a plausible value for D. (3 marks)

ii. Reason out why both Russia and Malaysia will agree to the term of trade taking on the value
D. (9 marks)
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iii. Explain what good(s) will be exported by each country in phases W, X, Yand Z. (10 marks)

e) The Ricardian Trade Theory differs vastly from the Mercantilist Theory of International Trade.
Explain the main philosophical difference between the two. (10 marks)

QUESTION 2 (50 marks)

a) The US-China trade war has seen both countries imposing tariff on each other’s goods. Using
an appropriate diagram, explain:

i. How the US citizens ended up paying most of the tariffs? (10 marks)

ii. How the US producers ended up gaining following imposition of the tariffs. (10 marks)

iii. Explain what is the condition that defermines whether the US will benefit through the
imposition of tarifis. (10 marks)

b) A country can become a low-cost producer by capitalizing on external economies of scale
and therefore capable of exporting the good to other countries with a low-price tag benefiting
all parties.

i. However, one may argue that such a development may work against developing
couniries. Explain why. {6 marks)

ii. Explain what developing countries can do to turn things around. (6 marks)

iii. Explain how the theory of external economies of scale on trade differs from the Ricardian
Model. (8 marks)

*** END OF QUESTION PAPER ***
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